## COMMON FIXED POINTS AND ITERATION OF COMMUTING NONEXPANSIVE MAPPINGS

## SHIRO ISHIKAWA

The following result is shown. Let  $T_i(i = 1, 2, \dots, \nu)$  be commuting nonexpansive self-mappings on a compact convex subset D of a Banach space and let x be any point in D. Then the sequence

 $\left\{\left[\prod_{n_{\nu-1}=1}^{n_{\nu}}\left[S_{\nu}\prod_{n_{\nu-2}=1}^{n_{\nu-1}}\left[\cdots\left[S_{3}\prod_{n_{1}=1}^{n_{2}}\left[S_{2}\prod_{n_{0}=1}^{n_{1}}S_{1}\right]\right]\cdots\right]\right]\right\}_{n_{\nu=1}}^{\infty}\right\}_{n_{\nu=1}}^{\infty}$ 

converges to a common fixed point of  $\{T\}_{i=1}^{\nu}$ , where  $S_i = (1 - \alpha_i)I + \alpha_i T_i$ ,  $0 < \alpha_i < 1$ , I is the identity mapping.

In [2], DeMarr proved that if  $T_i(i \in J, J)$  is an index set) are commuting nonexpansive self-mappings on a compact convex subset D of a Banach space (i.e.,  $||Tx - Ty|| \leq ||x - y||$  for all x, y in D, and  $T_iT_j = T_jT_i$  for all  $i, j \in J$ ), then  $T_i(i \in J)$  have a common fixed point in D.

The problem we shall consider in this paper is that of constructing a sequence of points  $\{x_n\}_{n=1}^{\infty}$  in *D* that converges to the common fixed point of  $T_i$   $(i \in J, J)$  is a finite index set).

If a Banach space is strictly convex (i.e.,  $||\alpha x + (1 - \alpha)y|| < \max\{||x||, ||y||\}$  for  $x \neq y, 0 < \alpha < 1$ ), the problem was solved in [5].

Throughout this paper, we denote an identity mapping by I and the set of fixed points of T by F[T]. And we define  $\prod_{i=1}^{n+1} T_i = T_{n+1}(\prod_{i=1}^{n} T_i)$  for any positive integer n and  $\prod_{i=1}^{1} T_i = T_1$ .

We have the following main theorem.

THEOREM. Let  $T_i (i = 1, 2, \dots \nu)$  be commuting nonexpansive mappings from a compact convex subset D of a Banach space into itself, and let x be any point in D.

Then  $\bigcap_{i=1}^{\nu} F[T_i]$  is nonempty and the sequence  $\{x_{n_{\nu}}^{\infty}\}$  converges to a point in  $\bigcap_{i=1}^{\nu} F[T_i]$ , where  $x_{n_{\nu}}$  is defined for each positive integer  $n_i$  by

$$\left[\prod_{n_{l-1}=1}^{n_l} \left[S_{\iota}\prod_{n_{l-2}=1}^{n_{l-1}} \left[S_{\iota-1}\cdots\left[S_{3}\prod_{n_{1}=1}^{n_{2}} \left[S_{2}\prod_{n_{0}=1}^{n_{1}}S_{1}\right]\right]\cdots\right]\right]\right]x$$

where  $S_i = (1 - \alpha_i)I + \alpha_i T_i, 0 < \alpha_i < 1 (i = 1, 2, \dots, \nu).$ 

Before proving the theorem, we first prove the following lemmas on which the proof of theorem is based.

LEMMA 1. Let T and P be nonexpansive mappings from a

bounded convex subset D of a Banach space into itself that satisfy the conditions

(1) 
$$P(D) = F[P] \text{ and } T(P(D)) \subset P(D)$$
.

Let  $x_0$  be any point in D and let  $\alpha$  be any number such that  $0 < \alpha < 1$ . Then the sequences  $\{x_n - Tx_n\}_{n=0}^{\infty}$  and  $\{x_n - Px_n\}_{n=0}^{\infty}$  respectively converge to zero, where  $x_n$  is defined for each positive integer n by

(2) 
$$x_n = (1 - \alpha)y_n + \alpha T y_n$$
,  $y_n = P x_{n-1}$ ,

that, is  $x_n = (SP)^n x_0$ , where  $S = (1 - \alpha)I + \alpha T$ .

*Proof.* We see from (1) that for all 
$$n \ge 1$$

$$(3) y_n = Py_n \text{ and } Ty_n = PTy_n.$$

Since T and P are nonexpansive mappings, we have, from (2) and (3), for all  $n \ge 0$ 

$$||y_{n+1} - Ty_{n+1}|| = ||Px_n - PTy_{n+1}|| \le ||x_n - Ty_{n+1}||$$

and, from (2) and (3), for all  $n \ge 1$ 

$$\begin{aligned} ||x_n - Ty_{n+1}|| &\leq ||x_n - Ty_n|| + ||Ty_n - Ty_{n+1}|| \\ &\leq (1 - \alpha)||y - Ty_n|| + ||y_n - y_{n+1}|| \\ &\leq (1 - \alpha)||y_n - Ty_n|| + ||Py_n - Px_n|| \\ &\leq (1 - \alpha)||y_n - Ty_n|| + ||y_n - x_n|| \\ &\leq (1 - \alpha)||y_n - Ty_n|| + \alpha||y_n - Ty_n|| = ||y_n - Ty_n|| \end{aligned}$$

from which, we obtain

$$||y_{n+1} - Ty_{n+1}|| \le ||x_n - Ty_{n+1}|| \le ||y_n - Ty_n||$$
 for all  $n \ge 1$ .

Hence the sequence  $\{||y_n - Ty_n||\}_{n=1}^{\infty}$ , which is nonincreasing and bounded below, has a limit.

Suppose that  $\lim ||y_n - Ty_n|| = r > 0$ , that is, for any  $\varepsilon > 0$ , there is an integer m such that

$$(4) r \leq ||y_n - Ty_n|| \leq (1+\varepsilon)r for all n \geq m.$$

Also, from the boundedness of D, we can choose M such that

$$(5)$$
  $L \leq (M-m)r < 2L$ , where L is a diameter of D.

We have from (3), (2) and (4) that for any  $n \ge m$  and  $k \ge 0$ 

$$\begin{aligned} ||y_n - y_{n+k+1}|| &\leq ||y_n - y_{n+1}|| + ||y_{n+1} - y_{n+2}|| + \dots + ||y_{n+k} - y_{n+k+1}|| \\ &\leq ||Py_n - Px_n|| + ||Py_{n+1} - Px_{n+1}|| + \dots + ||Py_{n+k} - Px_{n+k}|| \\ &\leq ||y_n - x_n|| + ||y_{n+1} - x_{n+1}|| + \dots + ||y_{n+k} - x_{n+k}|| \end{aligned}$$

(6) 
$$\leq \alpha(k+1)(1+\varepsilon)r$$
.

Now we shall prove by induction that

$$(7) \qquad (1+\alpha k)(1+\varepsilon)r - (1-\alpha)^{-k}\varepsilon r \leq ||Ty_{\scriptscriptstyle M} - y_{\scriptscriptstyle M-k}||$$

for any k such that  $0 \leq k \leq M - m$ .

When k = 0, the result is trivial. Now we assume that (7) is true for some k such that  $0 \le k \le M - m - 1$ . We see, from (3) and (2), that

$$\begin{aligned} || Ty_{_{M}} - y_{_{M-k}} || &= || PTy_{_{M}} - Px_{_{M-(k+1)}} || \leq || Ty_{_{M}} - x_{_{M-(k+1)}} || \\ &= || (1 - \alpha)(Ty_{_{M}} - y_{_{M-(k+1)}}) + \alpha(Ty_{_{M}} - Ty_{_{M-(k+1)}}) || \\ &\leq (1 - \alpha) || Ty_{_{M}} - y_{_{M-(k+1)}} || + \alpha || y_{_{M}} - y_{_{M-(k+1)}} || \end{aligned}$$

from which and (6), it follows that

$$|| \, Ty_{_{\scriptscriptstyle M}} - y_{_{\scriptscriptstyle M-k}} || \leq (1-lpha) || \, Ty_{_{\scriptscriptstyle M}} - y_{_{\scriptscriptstyle M-(k+1)}} || + lpha^{_2} (k+1)(1+arepsilon) r \; .$$

From this and the assumption by induction, we have

$$egin{aligned} &(1+lpha k)(1+arepsilon)r-(1-lpha)^{-k}arepsilon r\ &\leq (1-lpha)||\,Ty_{\scriptscriptstyle M}-y_{\scriptscriptstyle M-(k+1)}||+lpha^{2}(k+1)(1+arepsilon)r) \end{aligned}$$

and it is clear that this inequality is equal to (7) with k + 1 for k. Hence, by induction, it follows that (7) is true for any k such that  $0 \le k \le M - m$ .

Since  $\log (1 + t) \leq t$  for all  $t \in (-1, \infty)$ , we have from (5) that

$$(1-lpha)^{-(M-m)} = \exp\left[(M-m)\log\left(1+rac{lpha}{1-lpha}
ight)
ight]$$
  
$$\leq \exp\left[(M-m)rac{lpha}{1-lpha}
ight] \leq \exp\left(rac{2L}{(1-lpha)r}
ight).$$

Thus it follows from (7) with M - m for k that

$$egin{aligned} &|| \, Ty_{\scriptscriptstyle M} - y_{\scriptscriptstyle m} || \geq (1 + lpha(M-m))(1 + arepsilon)r - arepsilon r \exp\left(rac{2L}{(1 - lpha)r}
ight) \ &\geq (r + L) - arepsilon r \exp\left(rac{2L}{(1 - lpha)r}
ight). \end{aligned}$$

Since  $\varepsilon$  is any positive number, this inequality is imcompatible with the definition of L. Hence we obtain that r = 0, that is,

$$(8) \qquad \qquad \lim_{n\to\infty} ||y_n - Ty_n|| = 0.$$

Now since T and P are nonexpansive mappings, we have from (2) and (3) that, for all  $n \ge 1$ ,

SHIRO ISHIKAWA

$$\begin{aligned} ||x_n - Tx_n|| &= ||(1 + \alpha)y_n + \alpha Ty_n - T((1 - \alpha)y_n + \alpha Ty_n)|| \\ &= ||(1 - \alpha)y_n - (1 - \alpha)Ty_n + Ty_n - T((1 - \alpha)y_n + \alpha Ty_n)|| \\ &\leq (1 - \alpha)||y_n - Ty_n|| + \alpha ||y_n - Ty_n|| \\ &= ||y_n - Ty_n|| \end{aligned}$$

and

$$\begin{aligned} ||x_n - Px_n|| &= ||(1 - \alpha)y_n + \alpha Ty_n - P((1 - \alpha)y_n + \alpha Ty_n)|| \\ &= ||(1 - \alpha)[Py_n - P((1 - \alpha)y_n + \alpha Ty_n)] \\ &+ \alpha [PTy_n - P((1 - \alpha)y_n + \alpha Ty_n)]|| \\ &\leq 2\alpha (1 - \alpha)||y_n - Ty_n||. \end{aligned}$$

Therefore we obtain that from (8) that

$$\lim_{n\to\infty}||x_n-Tx_n||=\lim_{n\to\infty}||x_n-Px_n||=0.$$

LEMMA 2. Let T and P be nonexpansive mappings from a compact convex subset D of a Banach space into itself such that

(9) 
$$P(D) = F[P] \quad and \quad T(P(D)) \subset P(D).$$

Let  $x_0$  be any point in D. Define  $x_n = \overline{P}_n x_0$  for each positive integer n, where  $\overline{P}_n = (SP)^n$ ,  $S = (1 - \alpha)I + \alpha T$ ,  $0 < \alpha < 1$ . Then it follows that

(10) for any  $x_0$  in D,  $\lim_{n\to\infty} (SP)^n x_0 = Px_0$  exists, which is, denoted by  $\overline{P}x_0$ ,

(11) 
$$\overline{P}(D) = F[\overline{P}] = F[T] \cap F[P]$$

and

(12) 
$$\{\overline{P}_n\}_{n=1}^{\infty}$$
 converges uniformly to  $P$ .

*Proof.* Since D is compact, there exists a subsequence  $\{x_{n_i}\}_{i=1}^{\infty}$  of  $\{x_n\}$  that converges to a point u in D. From the boundedness of D, Lemma 1 is applicable, so we have,

$$egin{aligned} ||u - Tu|| &\leq \lim_{i o \infty} \left\{ ||u - x_{n_i}|| + ||x_{n_i} - Tx_{n_i}|| + ||Tx_{n_i} - Tu|| 
ight\} \ &\leq \lim_{i o \infty} \left\{ 2 ||x_{n_i} - n|| + ||x_{n_i} - Tx_{n_i}|| 
ight\} = 0 \ , \end{aligned}$$

and similarly ||u - Pu|| = 0.

From this, it follows that

(13) 
$$u \in F[T] \cap F[P].$$

Since (9) implies (3), we see from (13) and (3) that for all  $n \ge 0$ ,

496

$$||u - x_{n+1}|| = ||u - ((1 - \alpha)y_{n+1} + \alpha Ty_{n+1})||$$
  

$$\leq (1 - \alpha)||u - y_{n+1}|| + \alpha ||Tu - Ty_{n+1}||$$
  

$$\leq ||u - y_{n+1}|| = ||Pu - Px_n|| \leq ||u - x_n||.$$

From this, we obtain that  $\lim_{n\to\infty} ||u-x_n|| = \lim_{n_i\to\infty} ||u-x_{n_i}|| = 0$ . Hence we have proved that (10) is true, that is, for any  $x_0$  in D,  $\overline{P}(x_0) = \lim_{n\to\infty} (SP)^n x_0$  is well-defined. From (13), we see that  $\overline{P}(x_0) \in F[T] \cap F[P]$ for all  $x_0$  in D, that is,

(14) 
$$\overline{P}(D) \subset F(T) \cap F[P]$$
.

And we have that, for any v in  $F[T] \cap F[P]$ ,

$$v = (SP)^n v = \lim_{n \to \infty} (SP)^n v = \overline{P}v$$
,

so we see that

(15) 
$$F[T] \cap F[P] \subset F[\bar{P}].$$

Also, clearly  $w = \overline{P}w \in \overline{P}(D)$  for all w in  $F[\overline{P}]$ . From this, (14) and (15), we get (11).

Finally we shall prove (12). Let  $\varepsilon$  be any positive number. Since D is compact, there are finite points  $\{x_0^1, x_0^2, \dots, x_0^k\}$  such that, for any x in D,

(16) 
$$\min\left\{||x - x_0^i||: 1 \leq i \leq k\right\} < \frac{\varepsilon}{3}.$$

From (10), we can choose N such that

$$(17) \qquad ||(SP)^n x_0^i - \bar{P} x_0^i|| < \frac{\varepsilon}{3} \qquad \text{for all} \quad n \ge N \quad \text{and} \quad 1 \le i \le k \;.$$

Let  $x_0$  be any point in D. From (16), we can take  $x_0^j$  such that

$$||x_{\scriptscriptstyle 0}-x_{\scriptscriptstyle 0}^{j}||<\frac{\varepsilon}{3}\,.$$

Since SP is nonexpansive, clearly  $\overline{P}$  is also nonexpansive. Hence we obtain from (17) and (18) that, for all  $n \ge N$ ,

$$egin{aligned} &||(SP)^n x_0 - ar{P} x_0|| \ &\leq ||(SP)^n x_0 - (SP)^n x_0^j|| + ||(SP)^n x_0^j - ar{P} x_0^j|| + ||ar{P} x_0^j - ar{P} x_0|| \ &\leq 2 ||x_0 - x_0^j|| + ||(SP)^n x_0^j - ar{P} x_0^j|| \leq arepsilon \end{aligned}$$

which implies (12).

LEMMA 3. Let T and  $P_n(n = 1, 2, \dots)$  be nonexpansive mappings from a compact convex subset D of a Banach space into itself. Assume that the following conditions are satisfied:

(19) for any x in D,  $\lim_{n\to\infty} P_n x = Px$  exists,

(20) 
$$P(D) = F[P] \subset F[P_n] \quad for \ all \quad n \ge 1$$

(21)  $P_n$  converges uniformly to P

and

$$(22) T(P(D)) \subset P(D) .$$

Then it follows that

(23) for any x in D, 
$$\lim_{n\to\infty} \hat{P}_n x = \hat{P}x$$
 exists, where  $\hat{P}_n = \prod_{i=1}^n (SP_i)$ ,  
 $S = (1 - \alpha)I + \alpha T$ ,  $0 < \alpha < 1$ ,

$$(24) \qquad \hat{P}(D) = F[\hat{P}] = F[T] \cap F[P] \subset F[\hat{P}_n] \qquad for \ all \quad n \ge 1$$

and

(25) 
$$\hat{P}_n$$
 converges uniformly to  $\hat{P}$ .

*Proof.* Let  $\varepsilon$  be any positive number. Since P satisfies the conditions of P in Lemma 2, from (12), we can choose N such that

$$(26) || (SP)^N y - \overline{P} y || < \frac{\varepsilon}{2} for all y in D,$$

where  $\overline{P}$  is defined as in Lemma 2.

From (21), there exists M such that

$$||SPx - SP_nx|| \le ||Px - P_nx|| \le \frac{\varepsilon}{2N}$$

for all  $n \ge M$  and all x in D.

This implies that, for all n such that  $n \ge M$ 

$$\begin{split} || \hat{P}_{n}x - (SP)^{N} \hat{P}_{n-N}x || \\ &\leq || (SP_{n}) \hat{P}_{n-1}x - (SP) \hat{P}_{n-1}x || + || (SP) \hat{P}_{n-1}x - (SP)(S)^{N-1} \hat{P}_{n-N}x || \\ &\leq \frac{\varepsilon}{2N} + || \hat{P}_{n-1}x - (SP)^{N-1} \hat{P}_{n-N}x || \\ &\leq 2\frac{\varepsilon}{2N} + || \hat{P}_{n-2}x - (SP)^{N-2} \hat{P}_{n-N}x || \leq \cdots \leq \frac{\varepsilon}{2} . \end{split}$$

From this and (26), we have that, for all n such that  $n \ge \max\{N, M\}$ ,  $||\hat{P}_n x - \bar{P}(\hat{P}_{n-N} x)|| \le ||\hat{P}_n x - (SP)^N \hat{P}_{n-N} x|| + ||(SP)^N \hat{P}_{n-N} x - \bar{P}(\hat{P}_{n-N} x)|| \le \varepsilon.$ 

Since Lemma 2 says that  $\overline{P}(D) = F[T] \cap F[P]$ , this implies that there exists a subsequence  $\{\hat{P}_{n,x}\}_{i=1}^{\infty}$  that converges to a point u in  $F[T] \cap F[P]$ . Also we see, from (20), for all  $n \geq 1$ ,

$$||\hat{P}_{n+1}x - u|| = ||SP_{n+1}\hat{P}_nx - SP_{n+1}u|| \le ||\hat{P}_nx - u||$$
.

Hence we get that  $\lim_{n\to\infty} ||\hat{P}_n x - u|| = \lim_{i\to\infty} ||\hat{P}_{n_i} x - u|| = 0$ , that is,  $\hat{P}_n x$  converges to a point in  $F[T] \cap F[P]$  for any x in D. This implies (23), and

(27) 
$$\widehat{P}(D) \subset F[T] \cap F[P].$$

If  $v \in F[T] \cap F[P]$ , then  $v = \hat{P}_n v = \lim_{n \to \infty} \hat{P}_n v = \hat{P}v$ , so we see

(28) 
$$F[T] \cap F[P] \subset F[\hat{P}]$$
.

Since clearly  $F[\hat{P}] \subset \hat{P}(D)$  and  $F[T] \cap F[P] \subset F[\hat{P}_n]$  for all  $n \ge 1$ , (24) follows from (27) and (28).

Now we shall prove (25). Let  $\varepsilon$  be any positive number. As in the proof of Lemma 2, we can choose finite points  $\{x_0^1, x_0^2, \dots, x_0^k\}$ from *D* satisfying (16). From (23), we can choose *N'* such that

(29) 
$$||\hat{P}_n x_0^i - \hat{P} x_0^i|| \leq \frac{\varepsilon}{3}$$
 for all  $n \geq N'$  and  $1 \leq i \leq k$ .

Let  $x_0$  be any point in *D*. By (16), we can take  $x_0^j$  that satisfies (18).

Since  $\hat{P}$  is nonexpansive, we obtain from (18) and (29) that, for all  $n \ge N'$ ,

$$egin{aligned} &|\hat{P}_n x_0 - \hat{P} x_0|| \ &\leq ||\hat{P}_n x_0 - \hat{P}_n x_0^j|| + ||\hat{P}_n x_0^j - \hat{P} x_0^j|| + ||\hat{P} x_0^j - \hat{P} x_0|| \ &\leq 2||x_0 - x_0^j|| + ||\hat{P}_n x_0^j - \hat{P} x_0^j|| \leq arepsilon \ . \end{aligned}$$

This implies (25).

LEMMA 4. Let  $T_i(i = 1, 2, \dots, k)$  be a commuting family of mappings. Then it follows that

$$T_k(igcap_{i=1}^{k-1}F[T_i])\subsetigcap_{i=1}^{k-1}F[T_i]$$
 .

*Proof.* Let x be any point in  $\bigcap_{i=1}^{k-1} F[T_i]$ . We see that  $T_k x = T_k T_i x = T_i T_k x$  for all i such that  $1 \leq i \leq k-1$ , which implies that  $T_k x$  belongs to  $F[T_i]$  for all  $1 \leq i \leq k-1$ .

*Proof of theorem.* For all *i* such that  $1 \leq i \leq \nu$ , put

$$\sum_{n_{i-1}=1}^{n_i} \left[ S_i \prod_{n_{i-2}=1}^{n_{i-1}} \left[ S_{i-1} \cdots \left[ S_2 \prod_{n_0=1}^{n_1} S_1 \right] \cdots 
ight] 
ight] x = P_{n_i}^{(i)} x \; .$$

## SHIRO ISHIKAWA

We shall prove the theorem by induction. Let us assume that the following conditions are true for some integer j such that  $1 \leq j \leq \nu - 1$ :

(30) for any x in D, 
$$\lim_{n \to \infty} P_{n_j}^{(j)} x = P^{(j)} x$$
 exists,

(31) 
$$P^{(j)}(D) = F[P^{(j)}] = \bigcap_{i=1}^{j} F[T_i] \subset F[P^{(j)}_{n_j}]$$
 for all integers  $n_j \ge 1$ ,

(32)  $\{P_{n_j}^{(j)}\}_{n_j=1}^{\infty}$  converges uniformly to  $P^{(j)}$ 

and

(33) 
$$T(P^{(j)}(D)) \subset P^{(j)}(D)$$
 .

Since  $P_{n_{j+1}}^{(j+1)}x = [\prod_{n_{j=1}}^{n_{j+1}} (S_{j+1}P_{n_{j}}^{(j)})]x$ , we can apply Lemma 3 by regarding  $T_{j+1}, S_{j+1}, P^{(j)}, P_{n_{j}}^{(j)}, P_{n_{j+1}}^{(j+1)}, P^{(j+1)}$  and conditions (30)-(33) as  $T, S, P, P_{n}, P_{n}, P$  and conditions (19)-(22). Hence we have,

(34) for any x in D, 
$$\lim_{n_{j+1}\to\infty} P_{n_{j+1}}^{(j+1)} x = P^{(j+1)} x$$
 exists

(35) 
$$P^{(j+1)}(D) = F[P^{(j+1)}] = \bigcap_{i=1}^{j+1} F[T_i] \subset F[P^{(j+1)}_{j+1}] \text{ for all } n_{j+1} \ge 1$$

and

(36) 
$$\{P_{n_{j+1}}^{(j+1)}\}_{n_{j+1}=1}^{\infty}$$
 converges uniformly to  $P^{(j+1)}$ .

Moreover, if  $j + 2 \leq \nu$ , Lemma 4 shows from (35) that

(37) 
$$T_{i+1}(P^{(j+1)})(D) \subset P^{(j+1)}(D)$$
.

When j = 1, conditions (30)-(32) immediately follow by regarding P in Lemma 2 as an identity mapping. Also from (31) and Lemma 4, we get (33).

Therefore, by induction, it follows that  $\lim_{n_{\nu}\to\infty} P_{n_{\nu}}^{(\nu)}x = P^{(\nu)}x \in P^{(\nu)}(D) = \bigcap_{i=1}^{\nu} F[T_i]$ . This completes the proof of the theorem.

From the finite intersection property, we have the following result due to DeMarr [2]. And note that we do not assume Zorn's lemma in our proof.

COROLLARY 1. Let  $T_i(i \in J, J \text{ is an index set})$  be commuting nonexpansive mapping from a compact convex subset of a Banach space into itself. Then there exists a point u in D such that  $T_i u = u$ for all  $i \in J$ .

When  $\nu = 1$  and  $\alpha_1 = 1/2$ , we have the following corollary, which is essentially equal to the result we have obtained as a Corollary 2 in [3].

500

COROLLARY 2. Let T be a nonexpansive mapping from a compact convex subset D of a Banach space into itself. Then  $\{((I + T)/2)^n x\}_{n=1}^{\infty}$ converges to a fixed point of T.

The author would like to thank the referee for letting me know about reference [5].

## References

1. L. P. Belluce and W. A. Kink, Fixed point theorems for families of contraction mappings, Pacific J. Math., 18 (1966), 213-217.

2. R. E. DeMarr, Common fixed-points for commuting contraction mappings, Pacific J. Math., 13 (1963), 1139-1141.

3. S. Ishikawa, Fixed points and iteration of a nonexpansive mapping in a Banach space, Proc. Amer. Math. Soc., **59** (1976), 65-71.

4. T. C. Lim, A fixed point theorem for families of nonexpansive mappings, Pacific J. Math., 53 (1974), 487-493.

5. J. Linhart, Beiträge zur Fixpunkttheorie nichtexpandierender Operatoren, Monatshefte für Mathematik, **76** (1972), 239-249.

Received May 30, 1978.

FACULTY OF ENGINEERING KEIO UNIVERSITY 832 HIYOSHI-CHO, KOHOKU-KU YOKOHAMA 223, JAPAN